Lagrange interpolation polynomials

Polynomial passes through all the X,Y points
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Polynomial passes through the X,Y points

starting from point nx of order m
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X==1,1..17 Ye=| 7 XY:= augment (X , Y)

nx:=1 //Starting point (first point)
m:= 9 //Polynomial order (maximal - (number of points-1))
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//Lagrange polynomials of large order are not suitable (error increasing)
// (especially at the starting and ending points)

//We can play with starting point and polynomial order.

//Say, if we want to construct the polynomial of lower order

//through the last 5 points, then:

nx:=6 //Starting point
m:= 4 //Polynomial order
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